BID TAB - Grounds & Highway Bid Town of Longmeadow

CATEGORY A: Asphalt Products Hot & Cold Patch			Ondrick Materials & Recycling 22 Industry Rd Chicopee, MA		Palmer Paving 25 Blanchard St, Palmer, MA or 1000 Page Blvd, Springfield, MA		Ginmar Enterprises 136 Carmelinas Cl Ludlow, MA	
	Est	UO	Unit		Unit		Unit	
	Qty	M	Price	Total	Price	Total	Price	Total
A1 3/8" Road P	30	tn	\$66.00	\$1,980.00	\$65.00	\$1,950.00		\$0.00
A2 1/4" Top (sidewalk) P	140	tn	\$75.00	\$10,500.00	\$70.00	\$9,800.00		\$0.00
A3 Emulsion, Picked up	11	ga	\$12.00	\$132.00	\$10.00	\$110.00		\$0.00
A4 MA Dot SIC -19.MM, P	30	tn	\$62.00	\$1,860.00	\$63.00	\$1,890.00		\$0.00
A5 MA DOT std Top, P	120	tn	\$65.00	\$7,800.00	\$65.00	\$7,800.00		\$0.00
A6 Tennis Court, P	45	tn	\$75.00	\$3,375.00	\$70.00	\$3,150.00		\$0.00
A7 MASS Dot SSC-9.55MM, P	30	tn	\$62.00	\$1,860.00	\$63.00	\$1,890.00		\$0.00
A8 Berm (dense) P	18	tn	\$75.00	\$1,350.00	\$73.00	\$1,314.00		\$0.00
A9 Surface S.T. P	5	tn	\$75.00	\$375.00	\$68.00	\$340.00		\$0.00
A10 Driveway, P	11	tn	\$68.00	\$748.00	\$72.00	\$792.00		\$0.00
A11 1/2" Binder, P	18	tn	\$62.00	\$1,116.00	\$61.00	\$1,098.00		\$0.00
A12 Dense driveway, P	3	tn	\$75.00	\$225.00	\$75.00	\$225.00		\$0.00
A13 3/4" Binder, P	9	tn	\$62.00	\$558.00	\$65.00	\$585.00		\$0.00
A14 Cold Patch, Pickup	50	tn	\$107.00	\$5,350.00	\$105.00	\$5,250.00		\$0.00
A15 Cold Patch, Delivered	10	tn	\$122.00	\$1,220.00	\$125.00	\$1,250.00		\$0.00
				\$38,449.00		\$37,444.00		0.00

LOW BID

58 Indust..Rd, Chicopee

1000 Page Blvd, Spfld 25 Blanchard St, Palmaer NO BID

CATEGORY B1: Washed crushed stone, traprock, crushed gravel, minus traprock (picked up & delivered)			Ondrick Materials & Recycling 22 Industrial Rd Chicopee, MA		Palmer Paving 25 Blanchard St, Palmer, MA or 1000 Page Blvd, Springfield, MA		Ginmar Enterprises 136 Carmelinas Cl Ludlow, MA	
	Est	NOM	Unit Price	Total	Unit Price	Total	Unit Price	Total
B1.1Washed Crushed stone 3/4 P	Qty 40	in tn	\$16.25	\$650.00	FIICE	\$0.00		\$646.00
B1.2 Washed crushed stone 3/4 D	10	tn	\$21.50	\$215.00		\$0.00		\$209.50
B1.3Traprock 3/8 P	10	tn	\$22.80	\$228.00		\$0.00	\$13.50	\$135.00
B1.4 Traprock 3/8 D	5	tn	\$22.80	\$114.00		\$0.00		\$92.75
B1.5 Traprock 1/2 P	10	tn	\$22.50	\$225.00		\$0.00	\$13.25	\$132.50
B1.6 Traprock 1/2 D	5	tn	\$22.50	\$112.50		\$0.00	\$18.55	\$92.75
B1.7 Traprock 3/4 P	30	tn	\$16.25	\$487.50		\$0.00	\$12.50	\$375.00
B1.8 Traprock 3/4 D	10	tn	\$20.75	\$207.50		\$0.00	\$17.95	\$179.50
B1.9 Traprock 1-1/2 P	15	tn	\$16.00	\$240.00		\$0.00	\$11.75	\$176.25
B1.10 Traprock 1-1/2 D	5	tn	\$20.50	\$102.50		\$0.00	\$17.30	\$86.50
B1.11 Crushed Gravel 1-1/4 ,Hard Pack. P	120	tn	\$7.25	\$870.00		\$0.00	\$7.40	\$888.00
B1.12 Crushed Gravel 1-1/4 ,Hard Pack. D	275	tn	\$11.90	\$3,272.50		\$0.00	\$12.75	\$3,506.25
B1.13 21 6" Minus Traprock/Rip Rap P	5	tn	\$16.75	\$83.75		\$0.00	\$16.20	\$81.00
B1.14 22 6" Minus Traprock/Rip Rap D	20	tn	\$21.50	<u>\$430.00</u>		<u>\$0.00</u>	\$21.50	\$430.00

\$21.50 \$430.00 \$0.00 \$21.50 \$430.00

Total: \$7,238.25 \$0.00 \$7,031.00

LOW BID

25 ton minimum

24 ton minimum

CATEGORY B2: Crushed Gravel and Sand Fill (Picked up & delivered)			Ondrick Materials & Recycling 22 Industry Rd Chicopee, MA		Palmer Paving 25 Blanchard St, Palmer, MA or 1000 Page Blvd, Springfield, MA		Ginmar Enterprises 136 Carmelinas Cl Ludlow, MA	
	Est	UO	Unit		Unit		Unit	
	Qty	M	Price	Total	Price	Total	Price	Total
B2.1 Crushed Grave 3/4" P	15	tn		\$0.00		\$0.00	\$17.40	\$261.00
B2.2 Crushed Grave 3/4" D	5	tn		\$0.00		\$0.00	\$21.40	\$107.00
B2.3 Crushed Gravel 1-1/2" D	5	tn		\$0.00		\$0.00	\$17.50	\$87.50
B2.4 Crushed Gravel 1-1/2" D	1	tn		\$0.00		\$0.00	\$21.50	\$21.50
B2.5 Bank Run Gravel P	15	tn		\$0.00		\$0.00	\$10.25	\$153.75
B2.6 Bank Run Gravel D	40	tn		\$0.00		\$0.00	\$14.25	\$570.00
B2.7 Dense Grade Base Gravel P	10	tn		\$0.00		\$0.00	\$12.50	\$125.00
B2.8 Dense Grade Base Gravel D	40	tn		\$0.00		\$0.00	\$16.50	\$660.00
B2.9 Sand Fill P	52	tn		\$0.00		\$0.00	\$8.50	\$442.00
B2.10 Sand Fill D	143	tn		\$0.00		\$0.00	\$12.50	\$1,787.50
B2.11 Screened Sand P	40	tn		\$0.00		\$0.00	\$10.50	\$420.00
B2.12 Screened Sand D	100	tn		\$0.00		<u>\$0.00</u>	\$14.50	\$1,450.00
				\$0.00		\$0.00		\$6,085.25

NO BID

24 ton minimum

LOW BID

NO BID

<u>CATEGORY B3</u> : Top Soil (Picked Up & Delivered)			& Ro 22 Inc	k Materials ecycling dustry Rd opee, MA	Palmer Paving 25 Blanchard St, Palmer, MA or 1000 Page Blvd, Springfield, MA		Ginmar Enterprises 136 Carmelinas Cl Ludlow, MA	
	Est	UO	Unit Price	Total	Unit Price	Total	Unit Price	Total
	Qty	M	Price					
B3.1 Screened Top Soil P	90	tn		\$0.00		\$0.00	\$14.75	\$1,327.50
B3.2 Screened Top Soil D	180	tn		<u>\$0.00</u>		\$0.00	\$19.70	\$3,546.00
	-			\$0.00		\$0.00		\$4,873.50
				NO BID		NO BID		LOW BID

24 ton minimum